Model Prediction (P3-9)

P3-9: ['PA', 'Rm'] P3-9: ['CS', 'CD', 'CB'] P3-9: ['Ldem’', 'Ndem', 'Rdem’, 'FLdem’, 'FRdem’']
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P3-9: ['LfN', 'LfNT', "TsSN', "TSNT']
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P3-9: ['LfA', 'peakTgtLAI']
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P3-9 (plot by DAT)
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Days After Budding

P3-9 TsN1 (plot by DAT)
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Days After Budding

P3-9 TsN3 (plot by DAT)
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P3-9 TsN4 (plot by DAT)
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Days After Budding

P3-9 TsN5 (plot by DAT)
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P3-9 TsN6 (plot by DAT)

Harvept

r——————0
-®
Turn Color

I
=L
———— ®

r——9
Fruit Set

Anthesis

60
50 A
40 A
0
0
10 A
0

Buippng 1oy sAeqg

Days After Transplant

70

60

50



P3-9 (plot by adjDAT)
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Days After Budding

P3-9 TsN1 (plot by adjDAT)
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Days After Budding

P3-9 TsN2 (plot by adjDAT)
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Days After Budding

P3-9 TsN3 (plot by adjDAT)
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P3-9 TsN4 (plot by adjDAT)

Harvept

Turn Color

- &*

f=——

Fruit Set

Budding

60

50 A

T
o
<

o
mM

Buippng 1oy sAeqg

70 80 90
Days After Transplant

60

50

40



Days After Budding

P3-9 TsN5 (plot by adjDAT)
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Days After Budding

P3-9 TsN6 (plot by adjDAT)
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Plot [['sfTemp’, 'sfInit’, 'sfDev’, 'sfDem']]
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Plot ['sfDemLfA']
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Plot ['sfDemFrV']

: —— sfDemFrVv
1.04 4 I
1
1
1.02 A !
1
1
1.00 4 :
1
1
0.98 - 1
1
1
0.96 - :
1
T T I T T T T T
25 50 75 100 125 150 175




51 -
51.00
51.01
51.02
51.03
51.04
51.05
51.06 -
51.07 -
51.08 -
51.09 -
51.10 -
51.11 -
51.12 -
51.13 -
51.14 -
51.15 -
51.16 -
51.17 -
51.18 -
51.19 -
51.20 -
51.21 -
51.22 -
51.23 -




25 A

20 A

15 A

10 A

- T
Tdew
To

o -
ol

=
o

hr

30 A

25 A

20 A

15 A

10 A

o 4
(9]

1500 ~

1250 A

1000 A

750 A

500 A

250 A

o 4
u

2.5 1

2.0 A

1.5 4

1.0

0.5

0.0 -

optVPD
leafVPD
airVPD

| 41

90 A

80 A

70 A

60

50 A

40 A

30 A

o -
(O]

Plot EnvOpt Decision

50 A

40 A

30 A

20 A

60 -

40 -

20 A

-20 A

o -
(S, ]
=
o
=
(S, ]
N
o

75

50 A1

25 A

-25 A

-50 A1

— warRH1

——  WarRH2

0 5 10 15 20
hr

27.5 1

25.0 A

22.5 A

20.0 A

17.5

15.0 ~

12.5 A

PATG_T1
PATG T2
T

an

hr

27.5 1
25.0 1
22.5 A
20.0 A
17.5
15.0 ~
12.5 A

10.0 A

PATS T1
PATS T2

0 5

- T
10 15

hr

20

800 -
700 -
PATG_C1
600 1 —— PATG_C2
C
500 -
400 1
6 8 10 12 14 16 18
hr
800 1 —— PATS C1
—— PATS_C2
700 - —— C
L
600 -
500 -
400 1
6 8 10 12 14 16 18
hr
1000 + —— PAVT C1
900 —— PAVT C2
—e— C
800 - -____-///_____/// <
700 - \\\\\\\\\
600 -
500 -
400 1
6 8 10 12 14 16 18
hr
1400 - )\
1200 -
1000 -
800 -
600 -
400 - —— PATG_P1
——  PATG_P2
200 - =7
6 8 10 12 14 16 18
hr
1400 -
1200 -
1000 -
800 -
600 -
400 —— PATS_P1
—— PATS_P2
200 - —o— P
6 8 10 12 14 16 18
hr
1400 -
1200 -
1000 -
800 -
600 -
400 1 —
200 - o
6 8 10 12 14 16 18

hr







